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Geudluflwev/ CHEMISTRY

(s wHmid @mdle euf)l / Tamil & English Version )

ST =46Tay : 3.00 wexfl Cryw ] [ Qursg wHiuueaTser : 70
Time Allowed : 3.00 Hours | [Maximum Marks : 70

SiMleyenrsst : (1)

Instructions :

Simasg eflamés@nb sflwunsl ufeurdl o eTergT eraLSMmeT FHALTTSSIS
Qameremeytd. FsHLILF D GanpullpLitlen, enms seTarentlliLmeTilib
2 Langwnss Qgfellssa.

feots @deg spUY owbllear LLECWL TWHMSHEGWD
Sl &CaTyHeugHGL LwaTuBSS Cauam®b. UL RS amyausnE
Querdléd LweTu(HSSa L.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

@Oy : Caemawner GLgHd LD aerhg), swatUTBEmeT eripsaLb.

Draw diagrams and write equations wherever necessary,

Notie :

@Dl :

Note :

(i)

(i)
()

@GS -1/ PART - 1

Siemensg) ilanéaEnéEh sl wellssayb. 15x1=15
Qanhésuudrer preme wrHn e sale Wasab ghymLw
oL mwp Coipls®os GHUILHLa L @amearynd Csigas
Gr(Lpgeyib.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write
the option code and corresponding answer.
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Qanaumeuaaupmier ergsrglefenar SiLiLb&Es Gy gl WD @@ fpnHs
WPepUTGD ?
(<) CusareLt. (<) CapweL  (§) sdam (r) GasdllLenyl

Which one of the following ores is best concentrated by froth-floatation method ?

(@) Magnetite (b) Haematite (c) Galena (d) Cassiterite

Qeneupid p-QaTEd sallobiseile, srddls s yrésd L Qenars QUOBIHESTS
il ergl ?

(=) sTiuen (=1,) Hledl&aem (@) srfwbd (lead) () Qggiroreflwid
The element that does not show catenation among the following p-block elements is :

(@) Carbon (b) Silicon (c) Lead (d) Germanium

PCl, -e Srmpu@lidenme 2 (eureg) :

(1) H3PO; (<) PH; (&) HsPO, () POCl,
On hydrolysis, PCl; gives :
(a) H;PO, (b) PH, (c) HsPO, (d) POCI,

[Pt(NH,),Cl,] eremn ienanre & Geriod QupmETer rHBlu :

(1) Siewanra] rHOHILID (<) Qevawtiiy wrHHlwID
() qefl awpHd wrHHLID (FF) auigeu LmHBlwLD
Which type of isomerism is exhibited by [Pt(NH;),Cl,] ?

(a) Co-ordination isomerism (b) Linkage isomerism

(c) Optical isomerism (d) Geometrical isomerism

(bec) Si@HaaL 4 e sramiu@h Qaupll s sgeig :

(<=1) 48% (=4,) 23% (@) 32% (FF) 26%
The vacant space in bec lattice unit cell is :
(@) 48% (b) 23% () 32% (d) 26%
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GODHS S(WesSHe Lieviear Lpluri9e ursveuafer (PH;) Aage eflener
RH PS5 uensd ellerarur@ld. rhlaraie :

(é{).aﬂmm@mamwm@ seuruulC L ypuuribne Crreldlssdle o erergl.
(<=,) eflewanGeusoreng) seurliul L Upluurlnidng erdlieldlgsdler 2 arerg).
(@) SenanCeusiomens e;;euvuul;L yoliuglnfener sribg 2ieneudlene.
(rF) SlengeuanL g Gousid Glngeurengm@Lb.

The decomposition of phosphine (PH,) on tungsten at low pressure is a first order reaction.
It is because the :

(a) rate is proportional to the surface coverage.

(b) rate is inversely proportional to the surface coverage.

(c) rate is independent of the surface coverage.

(d) rate of decomposition is slow.

+7 ety SHsuls 5HnGarnp ﬁmmuﬂ]mmu Qupmerer &g armii
SETLDIBIGET :

(1) Np, Pu, Am (=) U, Fm, Th () U, Th, Md (FF) Es, No, Lr

The actinoid elements which show the highest oxidation state of +7 are :

() Np, Pu, Am () U, Fm, Th () U, Th,Md (d) Es, No, Lr

Yemeumeuameupmiar aul TroTs CFLOLLTES) eTgl ?

(<34) BF, | (<=4, PF, (@) CO o oi(m) Fo

Which of these is not likely to act as Lewis base ?

(2) BF, () PF, © CO L E ”
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10.

11.
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4
gahm AB* guuafilen efipLigeurs@n Hper Nat sjwaflenw el 2|ESLD.
STTETTILD : Carasliul L gsar Hri® swalliar @mardper SHH&0IS

2 arenGurgl, Sigen eipLigeuTsE@GD Hnad 2gsL.
(=) sapmy wHDD Srresid @ravhibd sfl. Cug)b, &MTEsID sapmlnaneT FRlwmres
cller&& WM ELW. |

(<) Sapm) LHMID SrrewDd @ran@Hwn &f. LD, sy snblbsres sflwmer
efeTésweae.

(8) F=pmy Ff T SITEUID Seum.

(FF) &nbDm OHMID SMFewTD Qram®Hn Seum.

Assertion : Coagulation power of AI>* is more than Na*.

Reason : Greater the valency of the flocculating ion added, greater is its power to
cause precipitation.

(a) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

(b) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.

(c) Assertion is true but Reason is false.
(d) Both Assertion and Reason are false.

Qemeupbd eflenar Hlaw ereucuema] «.LTFGL WanGeammiL b CaeneuliiBid ?
MnO; — Mn%*

(=1)5F ()3 F (@) 1F () 7F
How many Faradays of electricity are required for the following reaction to occur ?

MnO; — Mn?*

@) 5F (b) 3F () -1F d) 7F

Qeraumesanaupper eréGaiowrearg QugfHad Quaafflub LCrrenw®Lar
eflener g e BrmpuEss epedenanmu g osapranad SmHD ?

(21) Quengmiyeman( (<=4,) yrduermu9é 2ibleotd

(@) QusdHe yrnACurCGer_ (F) Sl Lregenan®

Which of the following compounds on reaction with methyl magnesium bromide followed
by hydrolysis will give tertiary alcohol ?
(a) benzaldehyde (b)  propanoic acid

(€)  methyl propanoate (d) acetaldehyde
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Qeraumb g cdeassrraiuLar s GLmer, smaeun Garuy elerarude
FRULE, =g Qanant BibésweL &gl Sips eflaand sy :

(=) Efdami(® evandsmyesi]

(<) Sn/HCI

(Q) sIes sorsdgiarer amanl F&er

(F) evan Grrewells <jbleb

Reaction of acetone with one of the following reagents involves nucleophilic addition followed
by elimination of water. The reagent is : ’

(@) Grignard reagent
(®) Sn/HC
(c) Hydrazine in presence of slightly acidic solution

(d) Hydrocyanic acid

Qeraumb Sibasaiicr e Copp ellenarss éLuurg@ T ?

(<=1) epeflevamry Gyl e oilar () asHld e

(@) e ersded yubam () Leoy ergled obewr
Which of the following amines does not undergo acetylation ?

(a) t-butylamine (b) ethylamin;e

(c) diethylamine (d) triethylamine

Qengeller anmiGuorer eramug Gougulwers @

(=t) Gameoiy () dvermi®

(@) yrsd () asriCurenan Gri_
Insulin, a hormone is chemically a :

(a) Fat (b) Steroid

(c) Protein (d) Carbohydrate
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15. @Qupms Gruui CeTemgBULS :
(1) gemmedl L Hav pmid 4rTeev SienLoLiL
(=) senafldenswirar flev LHOID g TETe SHemLOLIL
(B) imansgib Slev Senolil
(FF) SASSID IgTT6men HemLoLiL]
Natural rubber has :
(a) alternate cis and trans-configuration
(b) random cis and trans-configuration
(c) all cis-configuration
(d) all trans-configuration

UGS - 11/ PART - II

G&OLY : gCzend ymi larrssEnseE Mo walldsabd. allarm eram 24

SLLmwwons ol well&salid.

-5 &
6x2=12
Note : Answer any six questions. Question No. 24 is compulsory.

16. giw 2 Garsmisamer, smasaier srg&saiambg 9N

Uig FlencuaseT wreneu ? 5lssGWL L eum

What are the various steps involved in the extraction of pure metals from their ores ?

17. p-Qgrgd saflotisaller wsaod sallvsdear wramul : CHCRHS
s i &dlen el L LeTUSaT L) Ay SO

Write a short note on anomalous properties of the first element of p-block
18. Lu(OH); wpmib La(OH),

- Bigls ETrESamanio 2G| 6Tg ? erem ?
Out of Lu(OH)

3 and La(OH); which is more basic and why ?
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19. SOEGS FLIgET UETIWMNGESHa|LD.
Define Unit Cell.
20. pH era@uens auTUMSSH|D.
Define pH.
21. efeneGeusompm Bé&SET LDM GHILIL euamys.
Write a note on Catalytic Poison.
22. Qureeiaflf®mpg Queremuis ifle ereaieurn surésLLBEDS ?
How is Benzoic acid prepared from toluene ?
23. el Lifenser ereueurm auanslILIBSEULGE DS ?
How are Vitamins classified ?
24. CH,NO, aumium_igp@ Qren® wrdluniser o ererer. @éucilFairen_Wjb ereucummy
CapuBsgieumi ?
There are two isomers with the formula CH;NO,. How will you distinguish between
them ?
L& - 11/ PART - I1I
@&y : aCsamib gym NamssErse ol welssa b, olear ear 33 -&@
S L_muwns cden_weflésayb. 6x3=18

Note :

25.

Answer any six questions. Question No. 33 is compulsory.

&H56 Siblwsdlen LWaTEMETS B(HE.
Give the uses of sulphuric acid.
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26.

27.

28,

29.

30.

31.

32.

33.

QL& Qsmed Gamohisar eranpre eremer ? gif THSHEETL(H S(HS.

What are interstitial compounds ? Give an example.

Qevemtiiy wrpHwIbd erenpred erenen ? @i THSFSHT_HLe eilaréEs.

What is linkage isomerism ? Explain with an example.

TGCseb 6 Aflzedr penmenw cllemd &s.

Explain any one method for coagulation.

M leriiseT WHMID @Il STTRIGET eremmmTed ereme ?

What are Lewis acids and bases ?

H&GL LHNID GHSET FTESMIST TaTLmel Wiremel ? THSHESTLH S(ma.

What are reducing and non-reducing sugars ? Give example.

A, B g dwenamns sarLms.

Quensmuis b PCls L A 9“‘“5‘“ >B
Erop AlCl

Identify A and B.

) : PCls Benzene <
Benzoic acid > A Anhydrous AICl; ~ .

Q_MeSen ereueumy gwrfsasiLGdHma ?

How is terylene prepared ?

@0 Pge s aflemanufen eflenarCous wrhed 1.54x10-3 5= 1, SiF6 DieDTeuUMp
aregdlonend sedrL_Ma,

The rate constant for a first order reaction is 1,54 x1073 s~ Calculate its half-life time.
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U@&S - IV/ PART - IV
GSPILY : emenss) fards@ps@n ellanwealdseawb. 5x5=25
Note : Answer all the questions.
34.

(=) sigiialugden Werammh o Corsallwame edlersEs.
S|6V605)
() () Canwger Qe sCaimomiser aramre) craar ? THSSHESTLH SHs.

i) Qeraumbd POsmMaERESEG Seudher padsmm euriiur LoD M LD
SI@WUL UTUIUTHSEETS S(HsS.

(A) umevurfé . bleobd
(B) e»plflé flewtd
(a) Explain the electrometallurgy of aluminium.

OR
(b) (i) What are interhalogen compounds ? Give example.

(i)  Write the molecular formula and structural formula for the following.

(A) Phosphoric acid
(B) Nitric acid

35. (@) (i) evaml CrrGunCrm gpn elmeremwt upf GHLY eueys.
(i) Cumrréeden LwBEMETS BH(MHs.
{6060 G|
(%) erampd] Lys Lagde. d-<yin Lredlen Lgss ool SerciGence EHLGED
QUENTLILLD cuen(rs;.
(@) (i)  Write a note on hydroboration.
(i)  Give the uses of Borax.
OR

(b)  Inan octahedral crystal field, draw the figure to show splitting of d-ofbitalq
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36. (&) QuImET oW saEssT SAowldd Qurdeasdper sseigsdlaman sanésl (5.
S0V G
(=) () eNenanrCGeus rlelllienar cuanywimy.
() @upupliuriy sefsd, Cauduypliurliy sauigd - Caunu®sss.
(a) Calculate the percentage efficiency of packing in case of body centered cubic crystal.

OR

(b) (i) Define rate constant.

(i) Differentiate physisorption and chemisorption.

37. (=) Qpirenavl_ sweur’anl g Smell.
ANV
(<) Gemaumeuaneupmer @b [emmene ereueurm swrfliiumi ?
() @GCernGrr Guenéen
i) gGsryrieud Quenden
(a) Derive an expression for Nernst equation.
OR

(b) How is phenol prepared from the following ?

(i) Chloro benzene

(i) Isopropyl benzene
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(<=t) @flenamrw, mflenaamu, epeflanamu onSemsenear ereuauny CaiyuBsE ifleumis ?
SV G

() @) GQsr@uy 4 Qg sar upd GHLY auers.

(i) Henerenr wHYD Sewallenr <y HweaupDDaBHg 2 Heurs eurliiydrer
Smansg oL QuliemL(haaflen oulgeumIGmeTLD eUMTSE.

(a) How will you distinguish between primary, secondary and tertiary amines ?
OR
(b) (i) Write a note on synthetic detergents.

(i) Draw the structure of all possible dipeptides which can be obtained from glycine
and alanine. :

-00o0-
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